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Conatrurct parpendicidon line biaectona. and. angle biaectona

Kay, Uscabudony

North North \248° .
0657, -] 3 . . .
A i A bearing is the angle v

oo ooe .
degrees measured clockwise
The bearing of B The bearing of A frowm vorti. BGQFMO)S are
from A le 065 from 8 s 248 usually given as a three-
figure bearing. For example,

20° clockwise from viorth is
Draw and measure ine segments I usually written as 030°.

Conversions kem = 10mm, Im = 100cm

The Ine segment s 3%cm
A B Which is 39mm
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Bearing - a bearing is the mwr%l@ in degyrees
measured clockwisé from vort

e

Arc — a curved locus, drawn using a compass K e
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I Bisector - a live which divides something uto +wo equal !
I parts 1
1 1
1 1
1 1
1 1
1 1
1 1
1 1
| 1

Perpevdicular — +wo lives which intersect at right avgles

Locus (loci) — a set of poivts that share a property (..
the same distance away from a centre object)

. . . Bisalne
Parallel — two lines which are equidistant (vever wmeet) seament
R . (part of the
Polygon — a 2D shape with straight edges ne)
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| Para'bl ims Stil remember to lock for anges on Lines OF and BE are transversas

I
straght nes, acond apont and— (e th bisect the. paralel Ines) |
| verticaly oppostel 5 |
| |
Correspondng Otemate andes |
| angks often often idertified by | l 3
| ientified by thex ther *Z shape’ n | ~
| Fshape’n postion — —
| postion : (@) (i)
| |_ 4. T T T T/ =1
I || Sum of interior angies (umber o ses— Ax 180 | |
L | ondris |
" _______:___: I | émﬁg enchsed by the S o the interir ankes - (5— 2 x 180 |
| Qttermate/ Corresponding angdes |1 Co-interior angles L i
| I A . I | This shape. can be. made. from
| Becase. allemale anges are | | Because co-nferior angles have | I three triangees I
| equd the ggrled anges e || asmof 150° the hatlgted | Eoch trongle s 150° |
I the same. size. | | e i 110° I : o |
: : : fi : [ . o Sum of the intenor angles = 3 x 180 :
& on infegular po - RA(E
| Because, correspondng anges ¥ e o 0 o s o : I —the sdes ond anies are A0 |
| the. highichted - s angles on a ine. add vp o co-nterior anges 0 ’ . \
| gi f?:ima :i] opted s : | caeuated from dppljing akernate./ corresponding rues first | : dfferent szes | Remember this s al of the nterior angles added together |
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Angle biaecton (cuta an angle in haly) Popendicidon bisecton (cuta an ling in holp
1. Place the sharp end of a pair of compasses on the vertex. o g@ 1L ar Qﬂ&)
2. Draw an arc, marking a point on

1. Put the sharp point of a pair of compasses
onA.

2. Open the compass over half way on the line.
3. Draw an arc above and below the line.

4. Without changing the compass, repeat from
point B.

5. Draw a straight line through the two
intersecting arcs.

each line.

3. Without changing the compass put
the compass on each point and mark a
centre point where two arcs cross over.
4. Use a ruler to draw a line through
the vertex and centre point.

_ A point, line, or curve moving according to The red line is the loci of all the points
Loti mathematically defined conditions. equidistant from the black line.
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